
GS-06

SIGN THE PLACES WHERE BASE PROFILE WILL

BE INSTALLED . MAKE THE HOLE ON CONCRETE

AND CLEAN DUST IN HOLE.

M12 THREADED

ROD

THEN FIX FIRST PART WITH WASHER AND NUT

PUT THE GLASS SUPPORT PLASTIC AND

BOTTOM PLASTIC

PUT THE GLASS CAREFULLY

BASE

BASE

SUPPORT PLASTIC

PREVENTIVE

 PLASTIC

M12 THREADED

ROD

M12 NUT

M12 WASHER

M8*20 IMBUS

M6*25

SETSCREW

STEP 1 STEP 2 STEP 3

STEP 4 STEP 5 STEP 6

M12 THREADED

ROD

M12 NUT

M12 WASHER

PREVENTIVE

 PLASTIC

M12 THREADED

ROD

M12 NUT

M12 WASHER

BASE

SUPPORT PLASTIC

FILL SOME ADHESIVE ON HOLE , THEN PLACE

BASE PROFILE AND FIX BASE PROFILE WITH

CONCRETE SCREW  .

WAIT UNTIL ADHESIVE FREEZING.

1
1

7
0

520 520

1500

MC-210-A MC-210-A MC-210-A

MC-210-A MC-210-A MC-210-A

FIX A BIT COVER WITH

IMBUS SCREW THEN TAKE

A SPIRIT LEVEL OF GLASS

AND ONLY AFTER SPIRIT LEVEL

FIX SCREWS TIGHTLY.


